T2 1 FEZERSFRBEHTAES
BRESLEN FO6OR2ERFFRMMBEERKETFIEXS
BN 2 E R FFREBEFEBREPRRKXE

& 5| mOH 4 | | st | s [ e e
[#%18 8 8A1H(H)]
1| AV i 1847 _E230 38 38 9:00
2 | AU 1EE 247 30 54 8 10:00
3| RVTvF T 5% EA 54 4 10:55
4 | AFVUUR 1A 18 9 11:40
5 | 4kmidEEREE iR 5hr_E 230 57 6 12:20
6 | A7V 1[alEIE 1 9 3 13:20
7| BkmAVT AT AT 2T NN =Va—b Tigk 38 | 19 13:35
8 | MAVhL—R T 8hr_E A% 57 3 15:40
9 | AFVULE 1,/ 8Tk 12 6 17:10
[#%28 8 8HA2R(H)]
10 | A7V 1,/ SR 1R TGk 6 2 9:00
11| 4kmifFERiE HEDLRS M A 30 3 9:15
12 | 1km#AL-FIAT IV P 43 | 22 9:45
13| AV BEE1EIE 247 730 38 6 11:00
14 | 27V 1/ AR 8 4 11:45
15 | 4kmF—h-N'—ya—b Fig 27F— 1 14 12:20
16 | F—h-27U/h i 31F—2 16 13:50
(FE 1kmZALIFAT ) REAT— 15:00
17 | 3kmAVT AT AT 2T e —ya—h 3,407 P iE 2 1 15:30
18 | 3kmAVT YT AT 2T VeN'=ya—b R 1
19 | AV 2 Al 247 30 28 4 15:50
20 | ZAFVUUR 12015 4 2 16:20
(FE SkmAVT AT AT 2T VN~V 2—}) RYAT— 16:40
[#%38 8 8A3R(A)]
21 | 4kmF—hen"—=ya—h 340700 E R 1 8:30
22 | AkmF—A-N—va—h Pk 1
23 | F=L- A7V 3, ANL T E HE 1 8:50
24 | F=hATVUb Pepk 1
25 | RUT7vF R 20 1 9:45
26 | BALRL—R Pk 24 1 10:10
27 | AkmiEEEBEE TR 12 1 11:05
28 | AV W 1 11:25
29 | ATV 3-ANOLIR E B - DR 5 1 [E1HER « 5-8 A7 TR T Bk 3 11:35
AT VR 3-ANEIR TE R » D5 2 A1 2
ATV 3-ANLIRTEHE - PR 3 ik
(EE Ny sEBR Ny ANER) KGAT— 12:05
(m—Ra—2FE A HE 16:00
[%54FH 8A4RH (X)]
30 A Z—R-L—2 142 7:30
(#E¥ EAu—F-RE -BEEX) HEEY— ok 10:30




